Mean Spectrum

rm468 R e N 2n km/e

||”||I|||| T T T T ! T T T T ! T T T T
oo N
o E
e | D
> .
£ . o
o | N AVG
[} o~ '
~ ' l““ ' ' cont
| , )
§i n "’j ‘.u.‘.\‘.. 4\ M‘FeZ
‘._‘

' Mo MN

MMMML

H \IM _____ M.l.ﬁﬂlﬂhw

1000 1500 2000
A (R) z = 3.12710
RMS Spectrum
rm4SB o BLR 11770 NLR 900 km/s
. | T T - T _! - T = T T I- ! T T
\ T O O T ' T —cont
o N
TOT . o
- ' ’ . o RMSx
& ! . o
\ f
o ' '
o f ool Hell
° .
‘I:I 0 ) ) CIvV
o © i r‘“ . .
: m y *Aum B
'l—'< — -
il-lv In. 1] (R !u Ammmﬂ m mmnl NV

iLa

ALmmm
1000

A &) z = 3.12710

x(\t) =
X*/(408240—-5113)=1.103=>1.008

( Data — Model AC5 ) / o x

80

60

spectrum number
40

20

1000 1500 2000

1>+6.00
bad:529=0.13% A (B) z = 3.12710
u = 0.016(30) x = 0.968(88) => 0.968(88)
rm468 med(mad) Ay

_||rI|||||||| T T T T T T T T T T T T T

1.5

m T'nrm-ﬂm ik BG ¥ :

& and x

0.5

1500
A &) z = 3.12710

1>+86.00

-2

f) (10717 erg em™2s7'87")

BLR

& and x

Continuum Lightcurve

rm468 med(mad)% c5
T T T T T 1 T T T T 1
Ac(14838) —6(23)% S/N 66 B
o LS
K
1 e
T
4
o =0
o
& <
|
1 1 n 1 " 1
7000 7500 8000 8500 9000
MJD — 2450000
BLR Lightcurve
rm468
T LI B L A R B L S B B L B AL |
w L 4
o L -
o 4
ob,- ¢ o - LI . P | N . 1= - 7 o= - r = -,- -7 - 1
7000 7500 8000 8500 9000
MJD — 2450000
Corrections
o rm468
- T T T T T T T T T T T T
o 4
(22 PR PR PR PR P
e 7000 7500 8000 8500 9000
MJD — 2450000
& = 0.0150(71) x = 0.963(29) => 0.963(29)
o M468 med(mad) AC,
- FT T T T T T T
n 1 n n 1 n n 1 n n 1 n 1
7000 7500 8000 8500 9000,

MJD — 2450000



